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The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 268%
(2) 625%
(3) 20%

4) 12:5%

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :

Mass of oxygen molecule (m) = 2:76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 102 JK™h
(1 2508x10*K
(2) 5016x10*K
3) 8360x10*K
4) 1254x10*K

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 c¢m, the length of the open organ pipe is

(1) 132cm

(2) 12-5cm
(3) 8cm
(4) 16cm

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

%T

(D

(2)

3

4)
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Q608 FReFTeD Wormd By BoOOIIT WOTONG [BEOD
FOIF ARF &R STIF GV A0S TFFOI

(1) 268%
(2) 625%
3) 20%

4) 12:5%
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(T=03
SRF 96T 008 (m) = 2-76 x 10726 kg
WpuRs 3eos ky = 138 x 10723 J K1)
(1) 2-508x10*K
(2) 5016x10*K
(3) 8360x10*K
(4) 1254x10*K
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A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I—
@ !
(@) —>n
I
(2 Tf
(@) —n
I
3 T i
0) —>n
I
@ !
(@) —>n

A carbon resistor of (47 £ 4-7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be
(1) Violet — Yellow — Orange — Silver

(2)  Yellow — Green — Violet — Gold

(3) Yellow — Violet — Orange — Silver

(4) Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 10

(2) 20
3 11
4) 9

[BewordE ‘n’ BoB Y ARTp eeBndR) (B
20308803 ‘T’ érw@dod) BROOTIR 2womd IOBY,
Ferd  dpBEEoDY, oW,  WUOD  BANIRY
FPUFRBRYFW RAVIRNG F0BY DT Bewmasy, |
DO FSBRBOINT. B3 IR QeRTOT o SFoso I
308 n SRIDT BOOINT BOWOFWR, EREORZT

I—

@ !
(@) —>n
I

(2) Tf
(@) —>n
I

3) T i
o) —n
I

4) T i
(@) —>n

(47 £ 47) kQ T 200 3FS  SReFFRE, 23ed wed
WERRPEE  GLOTOTRYR) BT I FOROGRBOSVTT
MOTOBDBREERNT. 63 WeNe Foded Fwd 35 INT08T
(1) e3P - TIO - §ex0 - AT°

(2) =90 - T - FeTF - Reew,

(8) =90 - FeoY - Fexd - AT

(4) B - Fexd - eV - Rece),

‘n’ T TTENE 20T Mo, BEodeons WS ‘R’ snds
JRNIR), Bogosdeey R #3083 emf, E’ @i ot
30030 WedR Jerd Rl [RRTN TRE ATy
Dwwey I nd. ssn ‘n’ draecﬁr{%?mq 73 3ee33 B3R
TRR0BT WReEE BRRGN VRS VBT BFemay) 10 1
BATBCIRT3 ‘1’ 3 WSodn

(1) 10
(2) 20
3 11
4) 9
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10.

11.

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 409

(2) 250Q
(3) 259
(4) 500Q

A metallic rod of mass per wunit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is

1) 714A
(2) 1476 A
(3) 598A
(4) 11-32A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
energy. The work

gravitational potential

required to do this comes from
(1) the current source
(2) the lattice structure of the material of the

rod
(3) the magnetic field
(4) the induced electric field due to the

changing magnetic field

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 079W
(2) 2714 W
(3) 043 W
4 113W

8.

9.

10.

11.
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(1) 40Q
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1) T7T14A
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(2) 2714 W

(3) 043W

(4) 113W
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12,

13.

14.

15.

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 30 cm away from the mirror

(2) 30 cm towards the mirror

(3) 36 cm away from the mirror

(4) 36 cm towards the mirror

An em wave is propagating in a medium with a
velocity ?7 = Vli\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) - zdirection

(2) -y direction

(3) + z direction

(4) —xdirection

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 0138H
(2) 1-389H
(3) 138-:88 H
(4) 1389 H

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 30°
(3) 45°
(4) zero

12.

13.

14.

15 cm FonedBERTITI 8080 VR TBFepRos 40 cm
TRTBY, 2,080 WAWIOILING. 2,000 e BRIBIY,
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(1) 60°
(2) 30°
(3) 45°
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16.

17.

18.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1
values of Ig, I; and B are given by

20V

(1) Ig=40pA,
(2) Ip=20puA,
(3) Ig=25uA,
(4) Ip=40pA,

I =10 mA, B =250
Io=5mA, =250
Io=5mA, =200

Ic=5mA, =125

In a p-n junction diode, change in temperature
due to heating

(1) affects only reverse resistance

(2) does not affect resistance of p-n junction

(3) affects only forward resistance

(4) affects the overall V — I characteristics of

p-n junction

In the combination of the following gates the
output Y can be written in terms of inputs A and

B as

Ae L

Be [ > Y
>c

1 A.B

(20 A.B+A.B

3 A.B+A.B

4 A+B

16.

17.

18.

WSTY, BpeOATOTV  ARTWOBOTY, T Fpedeer
B A% 38R 391 DertHRod

(1) Ig=40pA,

Io=10mA, B =250

(2) Ig=20uA, Ig=5mA, f=250

(3) Ig=25pA, Io=5mA, f=200

4) Ig=40pA, Io=5mA, B=125

p-n  WoFS ReeEn T Feerdynoosd

SUFFOD RO WHIRBFOI0

(1) &R0930 BREGITY, B8, TOTRD GVOLVTREIZTS

(2)  p-n BB BretT Boed BOFHIRO
GUOEDBNBRDEY,

(3) B0 BRGITE, 308, TOTRO PVOLIBITEZT

(4) p-nwFTIV — I ogedsss Soed Focor
FOTHIT WS

mﬁdﬁ%mﬂdﬁ EReBBODN, wINH A =03 B AsS),
anesY oSoSgLész 908 WTOWBOT

Ae L

Be ( >c v
(1) A.B

(2 A.B+A.B

3 A.B+A.B

4 A+B
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19.

20.

21.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

(2) i=sint (1]
1)

(3) Reflected light is polarised with its electric

vector perpendicular to the plane of

incidence
(4) i=tan™ (1J
U

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 1-8mm
(2) 2:1mm
3) 19mm
(4) 1'7mm
An astronomical refracting telescope will have

large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and large diameter
(2) large focal length and large diameter
(8) large focal length and small diameter

(4) small focal length and small diameter

19.

20.

21.

38,7RT BRY08 W QTVT 2,080 BB BRIV Hoe

Bed eI WEES) Y BREEOOT
FTOORRYRT. %oTd AOFH wwoe e 1 3Q, Bepd
R T eeBInR0B 33earieh 2.0TBROTD

©OWERNTZBIERTT, 83 BT FINT Cdrnas 03000
TOOIRAT

(1) BePo2 ¥ Goaddnrieodd ©38 AT
RO3Y T3 RROLE ARTOE RAROITTNTIS

(2) i=sin! (1)
1)

(3) BEFOZ B PRI RRo@ wET AW
ROTP) STRBRRVAT BTV ©oLmNTIZE

(4) i=tan! (EJ
1)

00ONT®  AeFOOR FOIRNTE, AeHNRNT TEORNS
@030 d 030 2 mm, WHRT WIS 3TowosT A I
5896 A =3 D =3 2esonoany Sm@0s @R
100 cm =3T3, 20w nY Reecd @nesy 0-20° Qo
Bom> woldd, HowNY Fnedead wnRozR) 0-21° &
TegRen (wde h @082 D 3000D) WEREE SnEess
eFonI0RNY 2080

(1) 1-8mm
(2) 2:1mm
3) 19mm
(49) 1'7mm

20T DRReY [ oINS BROEIFEY) B Feedeod
TEED T 90eg, BreeRecd BFETE BROTLO 3T B[A®
DOBRTH)

(1) 3@: Zonw SRS R BeFE W

(2) R Borisd Bed =B FE I

(3) R Roriso Bed =08) 3R T

(4) 3R Zonwmd TS W3 FRWH W
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22,

23.

24.

25.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s

(2) 350 m/s
(3) 339 m/s
(4) 300 m/s
A pendulum is hung from the roof of a

sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 2ms

(2) 2s
3) ms
4) 1s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) independent of the distance between the
plates.

(2) proportional to the square root of the
distance between the plates.

(3) linearly proportional to the distance

between the plates.

(4) inversely proportional to the distance

between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller
(2) 10 times greater
(3) 5 times greater

(4) equal

22.

23.

24.

25.

MRS IPFIONQ, @RTRE  LVoIBNBELO  woT 33
TR0 YUTOIRENATI. 20830 FF RO LATT WL
I level ) m9FouT NI, Beomersd
BRBWBTNG. B8R tVFg 27°C I, 20 cm [T
73 em 3033 QVBRYY, 2.0TTF0TT 2.0m BRIFTLBRGR,
PUOEDBRBRNG. F@ TR0 g 320 Hz T,
27°C 3 mvabd Zuwgd &en

(1) 330m/s
(2) 350 m/s
3) 339 m/s
(4) 300 m/s

2,000 ERCVBBR) TOBRY, HFTNTIT FLRET 10BN e
TOFRNTS 3083 LT AZoBeN ITY Fone SorResnod
R00T 308 %08 WO T T, WIDW 5 m
BR0BE, et MRS SreERrs 20 m/s? SN,
0T BOTRCOTT FToO HOIN

(1) 2ms
2) 2s
3) ms
4) 1s

63 Q W VReIE A QTVW 2,030 w0k Tm03T

7908 C 3 dRemd FosnY SBDT 0 AWT WY

(1) FoBRY IROIT BRTOOT BoZzNE.

(2)  PBRE IR BRTE JrFRW
LIBOTECODTONT.

(3) Sedwon FOTNRY IBOVS cirad%:k L2R0TEC0ITONT.

(4) Bo3ne IR drad%é Qe ecTING.

%{gﬁéoﬁo@ﬁ 2,000 a@%%a@, h sx% @ozodmd%ﬂ 2,000
BTRB [oBy wow Boeed 3T AIE g E 39,
VDTSR, BN AT FBT TOBPBBIY, }TTONOR,
QR DTTRRVL, ATI0NYT 2,080 Fpewa's) s h
SR, wow BRTE WP WRORPTRBONG. T, eLRD®
Ve BRTOR BReDE RIRRTN QT WeFoONE
TR0

(1) 3&H

(2) 10 Seao B3y,

(3) 5 @e0 T,

(4) =
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26.

217.

28.

29.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Ky<Kp<Kq
(2) Kpg<K,<Kq
B) Ky>Kg>Kg
4 Kg>Ku>Kq

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K, : (K; + K,) for

the sphere is

(1) 7:10
(2) 10:7
3 5:7
4) 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity
(2) Rotational kinetic energy
(3) Moment of inertia

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Walking on the ground would become more
difficult.

(4) ‘g’ on the Earth will not change.

26.

217.

28.

29.

RRODFS AZ DEPF T FFODYTN NET WOT T3
330N A, B 5083 C mgnedg Ky, Kp 83 K¢ nss.
AC oo @03 @gment), WEHY S 2redaddxmed SB
030 AC R ©0weAEednTd

(1) Ky<Kp<Kg

(2) Kp<Ky<Kq

(3) K,>Kp>Kg

4) Kg>Ky>Kq
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©nd0303e ToroF B¥ozd (K,) [@e303Baena3,
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(1) 7:10
(2) 10:7
3 5:7
4) 2:5
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30.

31.

32.

33.

A toy car with charge q moves on a frictionless
horizontal plane surfacgunder the influence of_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s

(2) 1m/s, 3-5m/s

(3) 1m/s, 3m/s

(4) 1-5m/s, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0
for the block to remain stationary on the wedge
is

A
2
a
m
C B
1) a=_—2
cosec 0

(2) a=gcosH

g
3) a=
@) sin 0
(4) a=gtan® N R R R
The moment of the force, F =4i +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k

A A A
(2) -7i-8j -4k
A A A
(3) -4i-j -8k

A A A
4 -71i-4j -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 cm
(2) 0-053 cm
(3) 0-525cm
(4) 0-529 cm

30.

31.

32.

33.

To0RT T80T BeE, E@msaod 33 q I,
2,000 CBE 0 FRFEI0LS §Px IWIOT Boed
Fedd B8ORS, q E weodomsn ¢@T @en .o Fedos®
FRRHONEG, 0 0200t 6 m/s 7§ DOFCINMITT. & FLamE)
3638 080, DTITEIET. B FeBT FmmotmeN 580 D8R,
QTR FBomnE o WORITT. 0 =By 3 Aedowwnd
SRTW TS TR Fen 0B FTHRO ReSew)

(1) 2m/s, 4m/s

(2) 1m/s, 3-5m/s

(8) 1m/s, 3m/s

(4) 1-56m/s, 3m/s

BB, ZReDATO[OT, M TSN, LoTd DRYOT,
3RS 0 DTOR 20T VTR WIZW ABC Z0eD033.
WOBUT Wed ‘A’ WARZRFETY JeRSANT.  DDYOID
WTBOT e %&dmﬁb"fdw a 203 0 IBONT A0WOTR)

A
2

C B

(1) a= g
cosec 0

(2) a=gcosH

g
3 =
@ a=23

(4) a=gtan®
- A A A
wod g, F =41 +5j -6k, (2,0,-3) 3
20T (2,—2,—2)553@@3%@@2569503,
1) -8i-4j -7k
A A A
(2) -7i-8j -4k

A A A
(3) —4i—j -8k

A A JAN
4 -7i-4j -8k
0-001 cm 3R MeaFOTE 20T ;’uaw rees® 298 22y,
DTUHFOID WO Iy RES* 3 mﬁdﬁ;}(
YERRRTS. FT* AT SRTI 5 mm =B FIond
:»zee“)d ?i@&’gx RScd  evedesdd m%cs @=oe3 25 nAdn
BoRROTT. AR, Rers 8es, dreE) — 0:004 cm =TT,

WTT BOIRT YD)
(1) 0521 cm
(2) 0-053 cm
(3) 0-525cm
(4) 0-529 cm
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34.

35.

36.

37.

Which one of the following statements is

incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Frictional force opposes the relative motion.

(3) Limiting value of static friction is directly
proportional to normal reaction.

(4) Coefficient of sliding
dimensions of length.
Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed w about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the

relation

(1) We>Wg>W,
(2) Wg>W,>Wgq
(8) Wu>Wg>Wg,
(4) Wr>We>Wg

friction has

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 05
(2) 08
(3) 025
(4) 04

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

1‘ O

A

(1)

(2 —-D

3 D

5
(4) ZD

34.

35.

36.

37.

B3 FINT TePINYY, IR 2,000 Tewd FoaNE), ?

(1)  eudoeh PREFBOID,
BRTWOWTOIT.

(2) PRFD WO PTG 'z&i@éodmgL DBREDRIT3S.

(3) AW PRFEIOD BOWS WA, ©ow B3R
SRITICDTNG.

(4) =B PREGBOD IBATBY)  NGH ejomefn@
TRODT.

2.0z3e 020 M 023 &2 R misod A 1 (2000 B3 inew),

B : (200 3 Fgeod 238 083 C & (2030 FFeodd

0onIT) @0ty BT [RNES. WPYNW IF NS ©ID

B0ed 2080 ReVeOD BT 0 BeodR TOYRIrtRoET,

ORNII) Y AR ow demrosm Ry (W) 83

RowoPRR) FRTRRTS

(1) Wg>Wg>W,

(2) Wg>W,>Wg,

3) Wp>Wp>Wg

(4) Wr>We>Wg

Epleb) PREBNOS

Tod m O3 20T WORE HRAYTN ATICDYT, Tod
4dm VT BREROTD ant zﬁo?y@gﬁo&md.
RoPLIINT  S08C  TOTIHE DI IFY K
WATT. TROTT DROD TWTORTE Bensy v TTe,
TP A3 W08 (e) T LBSosw

(1) 05
(2) 08
(3) 025
(4) 04

T,00TE, 939,08009F 2,080 520D F0IT h 2Fched
PRETLE TFE BW0E 20 (WSTY, 2pe0ATO[0E)
AB = D 930308 wom oow $ZEy Z003RN
TPEFRRPIZEINTT, ©FT h SRy FRowmoNns ?

h B
0
l A
(1) %D
@ LD
3) D
) gn
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38.

39.

40.

41.

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F
(2) 4F
3) 6F
4) F

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal energy of the sample, is

(1) 104:3J

(2) 42:2J
(3) 2087dJ
(4) 845J

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %ko, the power radiated by it

becomes nP. The value of n is

L —
(2)

Q) -

81

(4) 256

A small sphere of radius ‘v’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1
@2 1
3) 2
@ 1t

38.

39.

40.

41.

2,08 TRATOT BY 20T FRIVIOT  WRBLSTET
TR BodNIE. BRBOTE B0doD LTI DY A [0
NTBEZCD 2080 @& Fed Rer A ©nd. wo F
WTO[RR BRTVOT FodoD HUTE[ Al SR, TWRTT,
DTS BoS0R) ¥ & BT TuHeo WeFondss

we)da’ow
(1) 9F
(2) 4F
3) 6F
4) F

100°C @02y m=%s, 838 (1:013 x 10° Nm™2)
958 0-1 g & 2,080 BP0 2edd, 100°C T ommN
BOS[SFIIRNLY 54 RERD TP Wesnos.
PUTOAT WRE ™8, 1671 cc sTT, R0 wida
303803 3§ 030

(1) 104:3J
(2) 4224J
(3) 2087dJ
(4) 845J

2,000 3 TON) BTorwoET A I, WRFT P w02
row, daonr DTERRORT. S g 3domodtae, Rog
2% 4 %

FYOR), DITENRTILY B3N TP, ToODT  LUFFODTY
WBEORTT, DITERRIRT TG FR nP oIRGS, n 3
e

@ 2

@)

@) —

81
4 —
@ 256
T SHATOR 2.0 wE KRV 3T S0WOT AN, BREY,
WeDTR. ©wTO DO ANWOROTRN T
UBGOIRMOZT. RRWFY) o> BensD), VR wuzHE

T B3P FINS CIRRTE WROTSe0NTINTS

1) r

@2 1°
3 1
4) o
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42.

43.

44.

45.

An electron of mass m with an initial velocity
IT):VO/i\ (Vo > 0) enters an electric field
I_*]) =— EOIi\ (Eg = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

(1) _h

1+ eEo t

mVO
(2) Ayt
3) Ay (1+ el tj
mVo

(CYR
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 20
(2) 30
(3) 10
(4) 15

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1)
(2)
(3)
(4)

01

=1
=1
=2

[

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v,;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1 1:2
2 4:1
3) 1:4
4) 2:1

_)
42. m cvabod By TFows Fer V= Voi (Vg > 0)

43.

44.

45.

20T o agmT  oF 8 B = - Byl
(Eq = 45908 > 0) B3, t = 0 IS4, TT03Y,
Lo VTS B-WN), TOMOITTTT, T t I, VWS
&-239)7) 300rwodTR)

(1) 7‘—0

1+ eEiot

mVO
(2) Ayt
eE

3) A1 0 ¢
( ) 0( + mVO J
4) Xy
2,000 BeRC3ReN8Ted TRV Slapizeveorin)

10 RORMAGNTY TToRY, 600 FoB, [REEIR
necy, 450 a’xazsz%mojarfﬁ% APBS Redeo IR 3R
O (?Dé)oa’m@?@p)

(1 20
(2) 30
3) 10
(4) 15

WROS RO TORWRE FFODNQ, 2080 HSTRS IXT,
35 3 BUR B3ob BB ROTIY)

(1)
(2)

1

-1

3 1:-1

4) 1:-2

2,000 SREBT PUFR e 2V S0 (A, V) BRIV
©3) I SweE RRYATNN, TRTRPAE ACRENRY
nowy Feny vy S8 [T STIREAT IS
efa’g)\%omabq 5v, ﬁz&;ﬂ%mﬁ, 3 POBROT BRT ARIT
QITENT 1oFR Bery vy STI vy BBy vy BT
20TBR)

(D
(2)
3
4)

[

12

| NG T S NG

1
14
1
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46.

47.

48.

49.

50.

Which of the following oxides is most acidic in
nature ?

(1) MgO

(2) BaO

(3) BeO

(4) CaO

The difference between amylose and amylopectin

is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(3) Amylose have 1—54 o-linkage and
1 — 6 P-linkage

(4) Amylose is made wup of glucose and

galactose

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1 14
(2) 28
3) 30
4) 44

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1) They contain covalent bonds
various linear polymer chains.

between

(2) Examples are bakelite and melamine.

(3) They are formed from bi- and tri-functional
monomers.

(4) They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also

gives m-nitroaniline because

(1) In spite of substituents nitro group always
goes to only m-position.

(2) In absence of substituents nitro group
always goes to m-position.

(3) In electrophilic substitution
amino group is meta directive.

reactions

(4) In acidic (strong) medium aniline is present
as anilinium ion.

46.

417.

48.

49.

50.

BRLTOR wE WYY, CCRTYT $,08 50901 MO,
TR0QT

(1) MgO
(2) BaO
3) BeO
(4) CaO

RERT W W) EREIT Y SEONT TP

(1) exEraERTndd 1 - 4 a-wog S 1 - 6
a-woqﬁwa’%moad

(2) @Qeﬁma’iﬁﬁ% 1 > 4 a2z 1 - 6
B-wotﬁdo&lmo@d

(B) wEeemnd 1 —» 4 o-wogd DR 1 — 6
B-wocﬁﬁd&d@o@d

(4) @dg}eﬁfae:s@, nBRET T3 ﬁfaé%em@ﬁ@od
303RTNT

2:3 g TwFT S @08) 45 g wndT =md

Q0B B Rogzemtieodnt (HeSO4) Heormen,

WBNRBERME @0 Ww3eensy KOH wgnd e

0008 NG STP o1&, Q03T GEIT BR8) M0 BY,

(1) 14
(2) 28
3 30
4) 44

@8 ERCTEROD WIHFIN W0 PDUTRT WHFINE
B203TT WVOOT TeFENTE CIRT)TO FOAXRAE),

(1) 2RNFYED DG Tesdeod WRIFE ITLINYG IB0D
TD F003RCHT LOPNYR.

(2) mgs@eeﬁjw, BOCOT NG YVTTOBOFHBNRTINGS.

(3) BRI Q FB Z3eod §0IRSE RIOLT ITDED
(BRBReDT ) RPOT SCINOT.

(4) wB¥E (ORDT)  IOWBRY =G
#%mﬂwoqﬁﬁ%ﬁ@(mo@d.

BRO &R, BRFTBY, BROTR) Fescs Revamen

Bow-FHRe @O FRRIFI FTY

(1) =838, oD R, Feine R0F) cdReenar
Dot -TTE Teerdgs.

(2) B3, RoRPRY WPTDNY, Frine RooP)

3O

cammRRER St TEE S00SH.

(3) e AR BT FEFODNIE,
@yRne MO0 Howe ATerdTING.

(4) Bo =B SRFITY, @ROT, @ROCDET
©C3RTIN ATIT.
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51.

52.

53.

54.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HZOH, CoHg, CoH;5Cl
(2) CyH5CI, CoHg, CoH5OH
(3) CoHZOH, CoH;Cl, CoH5ONa
(4) CyH5OH, CoH5ONa, CoH;Cl
(A)
substitution to form an alkyl bromide which by

Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH=CH
(2) CHg-CHg
(3) CH,=CH,
(4) CHy

The compound C;Hg undergoes the following

reactions :

3Cly/ A

Bry/Fe _ 7Zn/HCI
A —2 B = C

C7Hg
The product ‘C’ is
(1) m-bromotoluene
(2) 3-bromo-2,4,6-trichlorotoluene
(3) o-bromotoluene
(4) p-bromotoluene
Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

1) N,Oj
2 N,0
(3) NO,
4 NO

51.

52.

53.

54.

A Q0w Fooogy AeeRoddo Na drodnt @8Fa B @02y
PCl; Zpodrt S8ra C o) 3eE0gds. B o=y C i
TORT BEFR FAFe' Q@O 3RS, FWowen A, B
33 C Asd

(1) C,H5OH, CyHg, CoH5Cl
(2) C,H;Cl, CoHg, C,H;OH

(3) C,HsOH, C,H,Cl, C,H;ONa
(4) C,H5OH, C,H;ONa, CoH;Cl

2,000 FREREFWFT (A), BRWTT ¥ed widd I
oo, Y & WRRE SOPR AW PR
803000, T, (4) TWFINOZ BRI BTV 2,030 LAY
FER I WRNERREIFT. THT (A) 030

() CH=CH
(2) CH,- CHjy
(3) CH,=CH,
4) CH,

C7Hg Ro03008) B0 30063303E, 1Beommmd
3ClL,/A Br,/Fe 7n/HCI
2L A2 g Zn/HCL

7Hg
99, PUBLCIRTOT C’ c

(1) m-Be ke o

(2) 3-2&@@@@-2,4,6-%%@@8@ EPORT

(3)  o-dncdne ORT

(4)  p-Bnesne ORT

RLIDTIINOTND W02 [RTR 13e30TeIFC0T w30TTe08,

Fedbm FHnewy o« @mTNYY SR IHwN
BRIFFTIRY ?

(1) N,05
@ N0
(3) NO,
4 NO
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55.

56.

57.

58.

59.

The bond dissociation energies of X5, Y, and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol’. The bond dissociation
energy of X, will be

(1) 200 kJ mol !
(2) 800 kJ mol !
(3) 100 kJ mol!
(4) 400 kJ mol !

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1shalved
(2) 1istripled
(3) is doubled

(4) remains unchanged

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) density of the gas molecules

(2) electric field present between the gas
molecules

(3) volume of the gas molecules

(4) forces of attraction between the
molecules

gas

For the redox reaction
MnOj +Cy02” + H' —— Mn*" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07- H'
(1) 16 5 2
2 2 16 5
3) 2 5 16
4 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g) +By(g) = Xy(g) AH=-XkJ?
(1) Low temperature and high pressure
(2) High temperature and high pressure
(3) Low temperature and low pressure
(4) High temperature and low pressure

55.

56.

57.

58.

59.

Xy, Yo 308 XY 18 wrds wog oodnens 8o
g@omn 11 0°5 1 1 ex0eeends, XY & Stme wuRss)
AH 3 — 200 kJ mol™! =33 X, & w05 odeexd
L (eveY

(1) 200 kJ mol ™!

(2) 800 kJ mol !

(3) 100 kJ mol !

(4) 400 kJ mol !

B8N m,Cows MTIahR) Qe RRLAES, ARFD
BNFT B8E0300D SRFOPTNFS (UFF ©[Q)

(1) eprmonR)Ed

(2)  Bond@u sromm

(3) QoM

(4) WTRIHB SROTIR)ED
BRTO  LROT  BEETRTH  SIE  1OE @’

R0zRIRATI[T

(1) =2 @rnd Fom3odd

(2) @2 BroNY SRS VBT FER)

(3) Qo @rIng M)

(4) @0 @MY IBONT SFRF T WONHD
3RL300 ST, (VSR €9 TR £9) 303005

MnOj +Cy02” + H'—— Mn>* + CO, + H,0

RooSReed  ROOECHBEH B IREOIRT
RomR08RY0
MnO; C,07~ H'
(1 16 5 2
2 2 16
3 2 5 16
4 5 16 2

3PN O RFOID FRLTOW B EBTLTY, ROF BRPET3
U3 BOIRTINLD SRIBAOTINITT
Ay (@) +By(g) = Xy(g) AH=-XkJ?
(1) 3R 2B =P FF .38
(2) rlog =B R B 233
(3) TaR T I R wIB
(4)  rom 2w 3 3R 1ew
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60.

61.

62.

63.

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy, — BrO3 ——> HBrO

Br «<——— Br,

1-0652 V 1-595V

Then the species undergoing disproportionation
is

(1) Bro;
(2) Br,

(3) Bro;
(4) HBrO

Among CaH,, BeH,, BaH,, the order of ionic
character is

(1) BeH, < CaHy < BaH,

(2) BeH, < BaH, < CaH,

(3) CaH, < BeH, < BaH,

(4) BaHl, < BeH, < CaH,

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 0-00224 L of water vapours at 1 atm and
273 K

(3) 0-18 g of water
(4) 1072 mol of water

The correct difference between first-
second-order reactions is that

and

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(3) the half-life of a first-order reaction does not
depend on [A]); the halflife of a

second-order reaction does depend on [A]

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

60.

61.

62.

63.

WRDIDE UBRF D RSN eIy e 3¢S emf
SRR Fozetiodnn 83 39N SeedAT

- 182V - 15V
BrOy — BrO3 —— HBrO

Br

10652V CT2

1-595 V
TS FFNTYNSA 97330 9037IF° eI CIRMOYTO
(1) BrOg
(2) Bry
3) BrO;
(4) HBrO
CaH,, BeH,, BaHy n¢¢) ©c3nds mood 003N
3o

(1) BeH, < CaH, < BaH,

(2) BeH, < BaH, < CaH,

(3) CaH, < BeH, < BaH,

(4) BaH,; < BeH, < CaH,

3INT CRYTOY, NOF F0ad 0B Q0T WedNTR), BROVTI

(1) 18 mL 3R, 2edd

(2)  1atm 08y 273 K 8¢, svows 0:00224 L 3R,
Q603 Y

(3) 018 g I, dedd

@) 1073 Speer3R), Aedd

BB OIRIAT 3By QoD §OIRIAF BL0eFTeanY

SRONT BOCRT IR

(1) IF=0 §os» JINFT O 3IRTOTTING Foed

UTOOWSTONGY; QPO FOININFT  FT)
$,0530T0FNE FT30 FWoed BTOOWITINT

2 IIDH HERBAFR odhoabe) §ERTFFIRT

BOPODT,  [HFS BRI QoD
3,00RBRFS 3,03503€), 3,0IR[HFBOOT
3,030TOFBLD TN

(3) IFS oINIAFT @i wRpodd (Al & Hoed
UROOWINY; Q0D JoINENFT T
wRpoRn [Al) Boed wEwoRZmNG

4) TPD FOSRB/AFT FTY 0INFTING FTING
B0eS BRBTNY; BIOD FERINFT FTR)
$,0309%0T3NE ATIOD Boed BO0LIBNe,

ALHCA/WW/Page 17

SPACE FOR ROUGH WORK

English/Kannada



64.

65.

66.

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NHy<-OR<-F
(2) -NHy>-OR>-F
(8) —-NRy<-OR<-F
(4) —-NRy>-OR>-F

Which of the following molecules represents the
order of hybridisation sp2, spz, sp, sp from left to
right atoms ?

(1) HC=C-C=CH
(2) CH,=CH-CH=CH,
(3 CHy,=CH-C=CH

(4) CHy-CH=CH-CH,

Which of the following carbocations is expected to
be most stable ?

NO,
0 Q
Y H
NO,
g
v/ &
NO,
.
Y H
(4)

NO,

< o

64.

65.

66.

NS saegng -1 o WeerdSodn wamdﬁs
FOWORATOZ BOOINT oo (R = v o)

(1) -NH,<-OR<-F

(20 -NHy;>-OR>-F

(3) —-NRy<-OR<-F

(4) —-NRy>-OR>-F

NS ©e0ndd R BEoweN  QBLOT  WOT
TTRBREONTY, sp%, sp%, sp, sp RoBOTTEITTY,
B,3AQRIT0

(1) HC=C-C=CH

(2) CH,=CH-CH=CH,

(3) CHy=CH-C=CH

(4) CH3-CH=CH-CHg

3RWTE  TURFTET  woIRTINYY, IR Ty
2 TB00 LOEFRWBITNT

NO,

(D ®

Y H
NO,
@ H7©
v/ &
NO,
o
Y H
(4)

NO,

<
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67.

68.

69.

70.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s? 252 2p3, the simplest
formula for this compound is

(1) Mg,Xy
(2) MgyX
(3) MgX,
(4) MgsX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

V3
o =

3V3
442

43
3v2

1
(4) 5

(2)

3

Which one is a wrong statement ?

(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) The electronic configuration of N atom is
1s2 2s2 Zpi Qp; Zp;

Pt LY

(3) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(4) The value of m for dzz is zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN*
(3) CN—
(4) CN

67.

68.

69.

70.

Bongodo, (X) 0w TBINZRDR BEFR  0IRAT
Bood0gm=Y, [werEd, (X) 3 ?ﬁ:ira%% DT DRI
1s? 252 2p? =53 Boc2083 I0Y 33

(1) MgyXy
(2) MgyX
(3) MgX,
(4) MggX,

B9y BREBOD THTZQ, bee 50 FeolT TF0IRY
EReoR. 900°C Nog FuE I, fee Bood
3eoR2 TEI0INN CRTWOZTRRTOZT. BREH 0T =0
900°C & ZBMYE, 3T WoBBOD WRTBRY (3O
BReeRT® 00O WBY TJOBMED FRND oIS e
P&dmmﬂ Q0TI mmﬁzﬁeﬁo)

J3
o =

33
42
443

3J2
1
@ 3

FINTINYE BT 2,003 TePFo0

(2)

6))

(1) we, 388 deedeod wBensy) womd PR §
380, AR BN,
(2) N TTB»e00 SN DIYRD)

162 28 2py 2py 2p)
MY Lt
(8) wom  FFER WD TPWRT  ZoBneos

ARWAOET WrDTYIB LoD ITT T
TPEURT 03 NPT ARWIVERTO.
(4 d,2 mhm 3 SPP) AeIeINnd.
QWNSE,
CN*, CN~, NO =53 CN
IR T WOTF (2007 Fog) I

(1) NO
(2) CN*
(3) CN~
(4) CN
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71.

72.

73.

74.

75.

76.

Which of the following statements is not true for
halogens ?

(1) All form monobasic oxyacids.

(2) All but fluorine show positive oxidation
states.

(3) All are oxidizing agents.

(4) Chlorine has the
enthalpy.

highest electron-gain

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe

(2) Mg
3) Zn
4) Cu
The correct order of atomic radii in group 13

elements is

(1) B<Al<In<Ga<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<Ga<In<TI
4) B<Ga<Al<In<Tl

In the structure of ClF3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) one
(2) four
3) two
(4) three
The correct order of N-compounds in its

decreasing order of oxidation states is
(1) HNOs3, NO, N,, NH,Cl

(2) HNO,, NH,CI, NO, N,
(3) HNOj,, NO, NH,CI, N,
(4) NH,CI, Ny, NO, HNO,

Which one of the following elements is unable to
form MFG3 “ion ?

1) Ga
2 B
3 Al
4) In

71.

72.

73.

74.

75.

76.

T, SReRTTNRY Wi FINT 0IRE Bewdodd IZ TN,

(1) Q9P HFBTNR, 8 SHTR) BRETS.

(2) TpoT DRODIRV IYRP FoZE YUBHF D
RO, BRORITS.

(3)  2YRP ERFITOND.

(4) 3RO WUTE NETT TR H0TIBRODT.

DQONRF  WIWIY, WOy, INToIRT e

RTODOOT WORQITITIR, WTIXE ALTOR

(1) Fe

(2) Mg
3) Zn
(4) Cu

RR® 13 8 GoBonvQ wW3mwead LMY BOOINT T30
(1) B<Al<In<Ga<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<Ga<In<Tl

4) B<Ga<Al<In<Tl
ClIF; TwE3c9), deom, =oR[mew ‘Cl Roed 9o

(&ef?%@d 208303007371 o3 o

(1) 2o
(2) e
(3) 2TH
(4)  Sowedh

Feinewa (N) Bpotdss Boodogndd N & eugwr o 3¢
NP3 9903 FOCINT 3R

(1) HNOg, NO, Ny, NH,CI

(2) HNOg, NH,CI, NO, N,

(3) HNOg, NO, NH,CI, N,

(4) NH,CI, N,, NO, HNO,4

SUNS oiRE omd Wl MF, eotnas SnEeo
AGONTD

(1) Ga
(2 B
3 Al
4) In
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71.

78.

79.

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

®
dichloromethyl cation (CHCl )

S]
dichloromethyl anion (CHCl)

(D

(2)

)

(3) formyl cation (CHO )

(4) dichlorocarbene (:CCly)

Carboxylic acids have higher boiling points than
aldehydes, alcohols of
comparable molecular mass. It is due to their

ketones and even

(1) formation of intramolecular H-bonding

(2) more extensive association of carboxylic
acid via van der Waals force of attraction

(3) formation of carboxylate ion

(4) formation of intermolecular H-bonding

Compound A, CgH,(0O, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

HyC ) CH, - OH and I,
{ M- CH-CHyand 1,

|

OH

¢ )~ CH, - CH, - OH and 1,

CH,

CHyq G OH and I,

(D

(2)

3

4)

71.

78.

79.

B3 BAEFTLTYOI DTYT TOFOI0

OH O Nat

@ + CHCly + NaOH ———> @ CHO

(1) dgdne 6@&363@*‘%3@33055@59(CHCI

(2) BBERTPAFS® & Sodna’ (CHCIQ)

S

3) e meRein (CHO)

(4) gigrgamnera (:CCly)

wOBENRD  sedned”  HF  BUQYTHST BN

WRFddT SRR BoUmgTmen  ©r0Ted

TRODTTR BRE TWRFEOT SN BT BOOOII

WOT[R), TROWTIS 9083

(1) ©083ea8 H 2057 c0otmnommd

(2) VTR T FTRFTBOD WOLOT TLWRF LT
SR B D08 RooPRENOYTO

(8)  FoeRFESess BoIRT GUSZCINMIR)TO

(4) ¥ 298 H 200537eh e00enosmtmd

CgH1p0 @ow A Foodozmy) (Y =02 NaOH) 2oz

803n033 NaOl Ieocdd  Jéra
é)éa’%mﬁéojao%i @dméd@commm@da.
A Y neh 3zdaen

@ HeC— ) CH,-OH =3 I,
{ H-cH-CHy 3 1,

|

OH

¢ M- CH, - CH, - OH =3 I,

CH,

(4) CHj G OH =3 1,

IO WR
£

(2)

(3
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80.

81.

82.

83.

84.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column IT
a. CO3Jr 1. \/§ B.M.
A ii. /35 BM.
c. Fe* iii. /3 B.M.
d. Ni** iv. /24 B.M.
v. 15 B.M.
a b c d
1) iv v i i
2) v i ii i
3) i ii iii iv
4) i v i ii

Iron carbonyl, Fe(CO)jy is

(1) tetranuclear

(2) trinuclear

(3) mononuclear

(4) dinuclear

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) square planar geometry and paramagnetic
(3) tetrahedral geometry and diamagnetic

(4) tetrahedral geometry and paramagnetic

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) Cr0F”
(2) MnOj
(3) Cr,02”
(4) MnO;~

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Geometrical isomerism

(2) Ionization isomerism

(3) Coordination isomerism

(4) Linkage isomerism

80.

81.

82.

83.

84.

5o I 39, dpemt watnondsy derwmy, o 11 3g,
RYNY DO T908e0 ,BONTY, BT Foawmi

EpeRT é@ed@LGOS%M@ :
ool oo Il
a. CO?’Jr 1. \/§ B.M.
b. Cr’t ii. /35 B.M.
c. T iii. V3 B.M.
d. NiZ* iv. /24 B.M.
v. /15 B.M.
a b c d
1) v v i i
Q) iv i i iii
3) i i iii iv
4) i v i ii

350 5tdere” Fe(CO)j5 tomd

(1) o83oF tjus

@) & uyue

(3) o8 s

4 oy

B3 Hodecdr

SRBOTEFOI

(1) Sne FROBO 239,008 083 BOIRFT0ZE0

(2) SAF TR 23,008 FoBY TWTFI0SEOD

(3)  RBwERR SFReS TWIFT (2BBOV0F D 2,008)
WY BO3RTIOSEOI

(4)  RREROH SBes TTFFW,A0S B2

[Ni(CO)yl w08 0=y swodeod

TOTIFTDOSECI
FINT 0309 200D 0E08¢008 3033 d-d ToBemoes
OB, BWOFAZS
1) Cro;
(2) MnO,
(3) Cry02~
4) MnO;~
Rosecorsy  [CoClyen)y] &5 OFT  BR@On3od=Y
BTHFRQTO

(1) e0gecd IRPond
(2) @032 IRPONI
(3)  R=oFe3 AR:ONE
(4) 3no&3 IZNon3
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85.

86.

87.

88.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?

1) b

(2 d

3) a

4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) Both magnitude and sign of the charge on
the ion

(3) Size of the ion alone

(4) The sign of charge on the ion alone

The solubility of BaSO, in water is
2-42 x 107 gL_1 at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol ™)
(1) 1:08x 1071% mo12 L2

(2) 1:08x 1074 mo12 L2

(3) 1:08x 1072 mol2 L2

(4) 1:08 x 107 mol? L2

Given van der Waals constant for NH;, H,, Oy
and CO, are respectively 4:17, 0-244, 1-:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NH,
(2 O,
(3) H,
4) CO,

85.

86.

87.

88.

B8NS @dsamfag DG PITOBRED (TRF) NP, o=
DO TN, NaOH 03 HCIL ﬁeﬁs& WD BRB
3O3ROTPNT

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55mL M HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

eIRRYneY cIRRES pH 2058 FROTNGS
1 b
@ d

3) a

4) ¢
OIRRT NOWBEdN Fgod0o IINT 0IRT O &5

TPIOTR) WBOOWBTINT

(1) 2cInRdE Boeds eI BRed =8,

(2)  =oIRIN Boeds 18E [T SHIT TRRee BRT
(3) 03T Mo8, TRT,

(4) 2R Boeds B3 wE =[N

298 K 3¢ BaSO, = 238030 242 x 1073 gL
=T eIz Moy (Kyy) B ISP

(TTe3 : wea32e¥ BaSO, = 233 g mol ')

(1) 108x 107" mol® L2

(2) 108x 107 * mol®> L2

(3) 1-08x 1072 mol? 172

(4) 1:08x 10 mol® L2

A3 cRondd  amRERy, @8
T0eFORWBOTINT

(Beo3rish 1 e BT T I QoDTosNTo NH,,
H,, 0, 3y CO, rert 3Romon 417, 0-244, 1-36
=03 359 %)

(1) NH;

2 O,

(3) H,

4) CO,

RoFN
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89. Which of the following compounds can form a

zwitterion ?

(1) Aniline

Benzoic acid

(2)

Acetanilide

3)

(4) Glycine

90. Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AICI,
© + CH4CH,CH,Cl ———3—»
(1) Oy
——2 __,Q+R
(ii) HyO*/A
P Q R
CH,CH,CH; CHO
CH(CH,), OH
2) @ @ CH,CH(OH)CH,
CH,CH,CH; CHO  COOH

@) CH; - CO — CHj

OH
CH(CH,), @

89. 3 T0ohHI Foo0FNYY 0IRF)TO zi}z%d 03N

TRTERBOWRD

(1) =0T

(2)  Wowoons® Wy,

3) @%&saegw

1A

(4)

90. [odI AT ROBDY, (erdodd)  Foad

u3RRens P, Q D033 R 3 (o5 S0moteRond

g

QRO
AlCl;

+ CH3CH,CH,Cl ————>—>
(i) Oy

P Q +R
(ii) H3O%/A

P Q R
CH,CH,CH;  CHO
1) @ @ CH,CH, - OH
CH(CHy), OH
@) @ @ CH5CH(OH)CH;
CH,CH,CH; CHO  COOH
NelNeNe
OH
CH(CH,),
4) @ CH; - CO — CH,
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91.

92.

93.

94.

95.

96.

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer: 10 g
(1) Inverted pyramid of biomass
(2) Upright pyramid of numbers
(3) Pyramid of energy
(4) Upright pyramid of biomass

Natality refers to

(1) Death rate

(2) Number of individuals leaving the habitat
(3) Birth rate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
1) 5% June

(2) 16t September

(3) 21° April

@) 22" April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Carbon

(2) Fe

3 Cl

(4) Oxygen

Niche is

(1) all the biological factors in the organism’s
environment

(2) the range of temperature that the organism
needs to live

(3) the physical space where an organism lives

(4) the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?

(1) €O
2 SO0,
(3) CO,
4) O,

91.

92.

93.

94.

95.

96.

33 FENT TOTWOST WP C3NTW Do  ROITT
QTT® @@Lmod WBITD ?
O@eon? ogg: 120 g
THEN0T 0383 : 60 g
TOHE wEasE: 10 g
(1) 3SIIMos o D30RB0D LT
(2) ﬁ&gﬁedmd RoaTe, TR0
(3) 3o Tww®
(4) ﬁ&gﬁedmd 2 IBTI0T QTR0

S0 (Natality) oo soegedmRm __ 2,

(1) ST T3

(2)  ©meRFRTO0T AN F[INE Fos
(3) wIITT

(4)  wsorEponE 20md FeddR FINe Foad,

2B LTBoReT DTN 30RO ?saq
(1) 5Jewnz®

(2)  163e AZowo

(3) 213enae®

(4) 223cnae”

3 NS DRORBNGY IR FoRRconE
DENDTEBTN  REFR), ‘u&meﬁd&q @rdf  SRETN
QP3RS ?

1) o™
(2) Fe

3) Cl

(4) ©BEIF

Ja (Niche) @020

(1) Beod HOTTTYDR wg, T T P
©0TMED

(2)  22e0300 WTHBITOTINELD LIEFIMIT PVFI TR

(3)  e0dRoTH TR WIBETW  WNRAT P

D YT W RoE ZAReINY  cvmadeen
dD@mé’%@ Wit

(4)  Beodpowd WP WTRGTT
TQREREORIT TSR ZE T,

343

@

B FINTYNEY, CWHRF QFecds BRAFFTT ?
(1 COo

2 SO,
(3) CO,
4) Oy
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97.

98.

99.

100.

101.

102.

103.

What is the of NAD"
respiration ?

(1) It functions as an enzyme.

(2) Itis anucleotide source for ATP synthesis.
(3) It functions as an electron carrier.

(4) It is the final electron acceptor for anaerobic

respiration.

role in cellular

Oxygen is not produced during photosynthesis by
(1
(2)

Green sulphur bacteria

Cycas

(3) Nostoc

(4) Chara

Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Hydrilla
(2) Banana
(3)
(4)
In which of the following forms is iron absorbed
by plants ?

(1)
(2)
(3)
(4)
Which of the following elements is responsible for
maintaining turgor in cells ?

o)
(2)
3
4)

Double fertilization is

(D

Yucca
Viola

Ferric

Free element

Ferrous

Both ferric and ferrous

Magnesium
Potassium
Sodium
Calcium

Fusion of two male gametes of a pollen tube
with two different eggs

(2)
3

Fusion of two male gametes with one egg

Fusion of one male gamete with two polar
nuclei

(4)

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -120°C
(2) -196°C
(3) -80°C

(4) -160°C

Syngamy and triple fusion

97.

98.

99.

100.

101.

102.

103.

2esgRedeoD turTPRE NADY 958 w3, 00 ?
(1) 3c5moN TCDFATELRNT.

(2) ATP Fo3eRent amd sngodectie
FoTBROFINTIZT.

DETYT TTEN FOOIDF IBF LRIDT.
a0 GUATHETY AT 08 LTI
R)$FI0ZNTIZT.

5 >
B SROZERFBODE SREFTR) VT, PV LYY,

(1) @b Rege e acooin

3
(4)

(2) Fsz
(3)  owF
4) epoe
WO RBYBRT [N wWed  ©8emITT  AoWoF

QORBRORTON, LHORTY, CIRFTH 2,00 VRO
BT ReDS WIWI), JoerorkevIORMT AN B3
FFNIRNTS, 03RToTT

W) gaep

(2) ¢

(3) oty

(4) @adece

B3 3INT 03RS CATVTY, L) IFNV0T SoeTURROY ?
(1) Fow

(2) =Zog, go=d

3) o=

(4) FoF 3 FoFNISER

Begeedn wnro” (Turgor) @@y BoyReRdRE, 35 39N

039 262070 BRTBMOTTINTIZES ?

(1) da?leéojoo

(2) Fpwedoddo

(8) RAnesodo

(4) w9000

8, Ve 020w

(1) TonTYTYTOB TR NoB> Dompeadned T
zpaimd £20Tt0NS 303 Boo3RENTININF

WOT 90TV B8RS TR Ro@d Doreadny
ToodRenzonoNd

20T NOBIAOTED DTHED FeoBReTFeoTNS
2 Foodeenmonoad

(4) om0 083 EFoodRenznINg

35 UFFODY, B[ARTHE FTRIFRY, BIRTeradNTI)
DO IRFNY Fo© FeDORBWIBITING

(1) -120°C

(2) -196°C

(3) -80°C

(4) -160°C

(2)
3

ALHCA/WW/Page 26

SPACE FOR ROUGH WORK

English/Kannada



104.

105.

106.

107.

108.

109.

110.

111.

The stage during which separation of the paired
homologous chromosomes begins is

(1)
(2)
(3)
(4)
Which of the following is true for nucleolus ?
(1)
(2)
(3)
(4)

Pachytene
Diakinesis
Diplotene
Zygotene

Larger nucleoli are present in dividing cells.
It takes part in spindle formation.

It is a membrane-bound structure.

It is a site for active ribosomal RNA
synthesis.

Which among the following is not a prokaryote ?
(1
(2)
(3)
(4)
Stomatal movement is not affected by
(1
(2)

3
4)

Stomata in grass leaf are
(1) Dumb-bell shaped
(2) Rectangular

(3) Kidney shaped

(4) Barrel shaped

The two functional groups characteristic of
sugars are

(1)
(2)
(3)
4)
The Golgi complex participates in
(1)
(2)
(3)
4)
Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADPH

(3) NADH

(4) Oxygen

Saccharomyces
Nostoc
Mycobacterium
Oscillatoria

Temperature

Oy concentration
Light

COy concentration

hydroxyl and methyl
carbonyl and phosphate
carbonyl and methyl
carbonyl and hydroxyl

Fatty acid breakdown
Respiration in bacteria
Formation of secretory vesicles
Activation of amino acid

104.

105.

106.

107.

108.

109.

110.

111.

2RSEAINTORT  ABNTOBRLTEIFI0BONS eI BOT0
SToRIRRNR 85 TBTY,

(1) TRy BEse”

(2) BoswgHE

(3) BIpser*

@) e

3negdeordmmongood (Nucleolus) 3 BowoQrmod 8
RN, Ay 30 ?

(1) PR3 BeomOITB  3ewBRINTE, Fneddeos,
TROTFON d@cﬁ@daéﬁ

300> NUTTFODY, 2% —oeiraeﬁoéd
ATRHOT wpd&ﬂfad 2 Ce3SCIHNG.

3,03 O"Zi@@m@@@iﬁ BT OT 2. F0FeR
amf\cﬁ.

B3 FINTRYNGY, AR W9, 00deee e ?
(1) msdeeHra

(2) aomF

(3) dgjmw%ge@abo

(4) eReeco0TR

TToR,e00 WUBNL VBT WL BMPIE,
1) o

(2) Oy 733

3) ¥

(4) COy T3

BT HSNLYT BZTognsh

(1) 20m0RE S50REENS
(2) @m@@dﬁ)%ﬁmﬁd

3) Rwes wom@d@@émﬂd
(4) &ezOW eﬁ@d@@;mﬂd

JFONY Moo dR NI
peleryiatlonie]

(1) FEder &2 0eg e
(2) UL B2 T
(3) RRFIT =R me%%csf
(4)  FRRFIT =B F3*

M Boderdrsy) AWTY, YPn=ROBS

(1) 8 [N ¢Iecs

(2) W %e@oﬁmﬁ@ QVTIES

(3)  mRE ST v

(4) @dx”xoe Spvelaty %od:oé% RR9R003
33 @ems@msq OIRRT  ByERoBeRES
B0300DYT T ¢ ?

(1) ATP

(2) NADPH

(3) NADH

(4) Oxygen

(2)
3

(4) Bobd 3¢

N o1e! @Qﬁfore’g

o IS
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112.

113.

114.

115.

116.

117.

118.

Offsets are produced by
(1
(2)
(3)
(4)
Select the correct statement :

(1) Franklin Stahl coined the term “linkage”.
(2) Spliceosomes take part in translation.

3

Meiotic divisions
Parthenocarpy

Mitotic divisions
Parthenogenesis

Punnett square was developed by a British
scientist.

(4)

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt
(2) Oil content
(3)
(4)

Select the correct match :

Transduction was discovered by S. Altman.

Cellulosic intine
Sporopollenin

(1)  Alec Jeffreys — Streptococcus
phneumoniae
(2) Matthew Meselson —  Pisum sativum
and F. Stahl
(3) Alfred Hershey and - TMV
Martha Chase

(4) Francois Jacob and -

Lac operon
Jacques Monod

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Fungus

(2) Plant

(3) Bacterium

(4) Virus

Which of the following flowers only once in its
life-time ?

(D

Bamboo species

(2) Mango

(3) Jackfruit

(4) Papaya

Which of the following pairs is wrongly

matched ?

(1) Starch synthesis in pea Multiple alleles

(2) XO type sex Grasshopper
determination

(3) ABO blood grouping Co-dominance

(4) T.H. Morgan Linkage

112.

113.

114.

115.

116.

117.

118.

wpRer (Offsets) nYd eU3goaRMdm)md amdos
(1) S0c3nesE PwInd

(2) RReTFOS

(8) e VPRI

(4) QAR eTRI

:;‘aama‘@e@%oja&z{ ejoﬂacab‘a@ :

(1) “Ooders” BTBR) 08T WY FURBRLI.

(2) @ S@SYF | 2odpeRReRned IR

(3) RJe= m%ddgt @@%@q@@zﬂmﬁdg W LRI
@g@@oﬁ)&ocﬁ.

(4) % 8 [T 0T T BFT F0ZRCRIVLT.

BoonmR) WOCIYINYY, BoTgIALD B3 FINT IR

DHOOIIBROT0 éme@ﬂg@id ?

(1) Fpoz® 3¢ (Pollenkitt)

(2)  wcg@owe

(8) Aoy dnextodng Aot

(4)  ARCRTFPSIT

:;‘aoimdmoaéodaailwoﬁ%dE@ :

1) - FpFsT DFeedod
el E)

2) - eI IR

ST WA

BRBERATOFOT 2
&3

3)

4)

@eﬁg? BRE WY WeGor BeT® - £3.220.9.

59,0807 e
W03 R RTE

- RF 2T

B.a7 0. o ©IZoSEme BE FIsOT [odeermogs
TR O, FRTBLO BTIFAT), BTTY,

(1) 3&e03,

(2) =%

(3) ;30030

(4) o=

3@( BEDTITHONE, 0 BRT, BRWRRT CIRF ?
(1) 2o I

(2) Ry

8) TR

(4) oW

B3 39N RN, CINFT I BROOFAINNT ?

(1) wERBodY HR/B BFERT  : WB LOeLdND
(2) XO 2e&0dH Qon Ver oD 1 BB

(3) ABO 38 RoRmRBONS D ABBUOI

(4) .3, Ieenes® : Oodes
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119.

120.

121.

122,

Winged pollen grains are present in
(1) Mustard

(2) Mango

(3)
(4)

Cycas
Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1D
(2)
(3)
4
Which one is wrongly matched ?
(1)
(2)
(3)
(4)

Neurospora

Agaricus

Alternaria

Saccharomyces

Uniflagellate gametes

Polysiphonia

Gemma cups —  Marchantia

Brown algae
Chlorella

Biflagellate zoospores

Unicellular organism

Match the items given in Column I with those in

Column II and select the correct option given
below :
Column I Column II

a. Herbarium i. Itis aplace havinga
collection of preserved
plants and animals.

b. Key ii. A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

d. Catalogue iv.

a b c d
1) i iv iii ii
(2) i iv iii i
(3) iii ii i iv
(4) iii iv i ii

119.

120.

121.

122.

656033635 TooN Teeaonsd B3RO 9.

(D
(2)

TORT
By
3) oz
4) gz

Bpedeor, FOO3REMID OIT  PR0BT  WEWINED
2080230F BN GUBGOIRMIFT ATTY,

(1) &gdezeoe

(2) @moss®

(3)  woFerooan

(4) A FCReHAT

ATTY, CBRR)T FIEBROOFOINNG ?

(1) 3 3z00n3EE cDre - TRIITPEICTR

(2) AR swend - SRTFOIOIR

(3) B FTOONRLE WOWERINLL - 3030 FRO

(4) O3 doedecd 23eD - #pden

500 I 383 Fovo II 88, 30B0NISR) FOWRA BROD :

o001 o011

a. TIeroodo i 2TRORd FoTHT IRNREI =083
TR ENIR), AOXTOR FY.

b. ¢ i, BBeSFPoTTA_ 50EBOL0T D€
BUGRIR FIRFemN ISR
SRRV TEIoIRNTY, DT
MOBEROIQBIR FRTTNTIT0STHD
Roges QROBAISRINRORTTT.

c. FWAODO il W WENAE BIBRTONTY,
TIRIR Tedp QORTOB T

d. s iv. QT eRFNG RSN
£2R0BROITTONTIT QT MILANS
Evecwie)
Bodr oDNIERFIROBRTN
FLROIPAT.

a b c d

1 i iv 1ii il

2) 1 iv 1ii i

(3) iii ii i iv

(4) iii iv i il
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123.

124.

125.

126.

127.

128.

129.

Secondary xylem and phloem in dicot stem are
produced by

(1
(2)
(3)
(4)
Pneumatophores occur in
(1
(2)
(3)
(4)
Sweet potato is a modified
(1) Stem

(2) Tap root

(3)
(4)

Apical meristems
Phellogen
Vascular cambium

Axillary meristems

Halophytes

Carnivorous plants
Free-floating hydrophytes
Submerged hydrophytes

Adventitious root

Rhizome

Which of the following statements is correct ?

(1)

Ovules are not enclosed by ovary wall in
gymnosperms.

(2)
(3)

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

(4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :
(1)

Cell wall is present in members of Fungi
and Plantae.

(2)

Pseudopodia are locomotory and feeding
structures in Sporozoans.

3
(4)

Mushrooms belong to Basidiomycetes.
Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

Casparian strips occur in
(1)
(2)
(3)
4)
Plants having little or no secondary growth are
(1)
(2)
(3)
(4)

Epidermis
Cortex
Pericycle
Endodermis

Grasses
Conifers
Deciduous angiosperms

Cycads

123.

124.

125.

126.

127.

128.

129.

Ond  AIFoRTY, QZecdT Poo R[ORN
SUZOIRNRRT BTOT

(1) Ion Iprinss

(2) Pdpme

(3) TPPeod FeoRadho

(4) Bgeod P3RS

SRR R FeT Y RNIYTOZS

(1) goRINDd

(2)  Rwomme0 AFNR

(3)  RBoZEmNTE - Fess WO AZM
(4)  S0YONTOR ROIZNWD

2T BRTDFTIT L OTD

(1) =Zzo0d

(2) @o0203edd

(8) &oRONT LIeTd

(4)  BeDoTFooR

33 FINT TeINTE), 03T FORNS ?

(1) wgE WeRIZNIY,
£0TETONRGRI0T 50ATIPYNE) .
TR TN B WeRIZNTONES.
Fordy, — PIWewFINT  $TT
RROWEWFOI0Z SNTI.

Foorr D ABINICEOLR,  WRRFEN
RFFo0END wmmsmq TROOTRAE .

FREDO

£90TTOEAONTO

(2)

3) RRlIIlevse

4)

B BeeF0R0 TR0 :

(1) 29eozned I IZJINFAYY,  Eedpgodn
Rlobring

(2) ARCRSPTNIY, WFTEAD 0B R
PVEIROT TWINFIND.

3
(4)

2eowNeh SRR3R BRI Fe0s.

Bedoe  TBROBDIAY  NIBTR, WIRENGY,
FeERT0R 03RNY BeFEREBT BT SN,
T,3e0030%" TR wBBYToEES

(1) w&TFTT

(2) s

(3) oz

(4) 202330

@B WEme HZeoDE WRdrtode auR B NSond
(1) e A

(2)  3BoBo50 RN

(3) TS[dew SHFBReWATYNED

(4)  Azownd
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130.

131.

132.

133.

134.

135.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Co-667

(2) Lerma Rojo
(3)
(4)

Sharbati Sonora

Basmati

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(D
(2)
3
4)

Retrovirus
A phage

Ti plasmid
pBR 322

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Genetic Engineering Appraisal Committee
(GEAC)

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) T.H. Morgan — Transduction
(3) Fyx Recessive parent — Dihybrid cross
(4) G. Mendel — Transformation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
3
(4)

Extension, Denaturation, Annealing
Denaturation, Extension, Annealing
Annealing, Extension, Denaturation

Denaturation, Annealing, Extension

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1)
(2)
(3)
(4)

Bio-infringement
Biodegradation
Biopiracy
Bioexploitation

130.

131.

132.

133.

134.

135.

Q0ZTO BINH WRIFOROT PTBTYFTR, woTd TR
3oL IO DTFede  FoBAIROT>  Weedowr®
BREERORB VT CINF)TE BoL0RATOTES

(1) Co-667

(2) SRoer Seeine

(3) Bwré Anesooe

(4)  wRd

BRI OoFpeFonerd BT .. &mé@oda’%
BHBRRVTL RPN LVBOIRENTOT TTTR) B3
FNTDNG, 03y ?

(1) oRzs~

(2) A Peew

(3) Tizye

(4) pBR 322

PROSRY, ATERIT  WIEMHN D00 NI
BOWCWR), BOTFFZAD [P 08T [RBRN BRTMWOF
2alobinilerslevtrin)infoiniel

(1) 3o FTsecd Jodnegm Boxz® (ICMR)
(2) 3835 BnTrRNTOR JoBRepT 308 (RCGM)
(3)  pR8 R0F §wos Jodnegm Toxe (CSIR)
4)

WRE QoD B[R, Rs’%ﬁrm EIASE)

(GEAC)
FOWRT BROQEODR) SOT/RE :
(1) Fp3ndsr - D[RIODF &I,
(2) @w.3F. Benes® - RTEE
(3)  Fyx oo B3me8, - QR0F0 @BTOWR0E
(4) w.Boode” - CRZ03TeD

ORTBex o 003RED (PCR) 398 @o3ny 300dnt
Bo30300TT

(D
(2)

DARTL3EBTe9, FLPBHT, TTOBOEEIS
RRRHT, WYTe3eFTd, ToTRISeTS
() TR, VITIEFTD, FLTFTTED
(4)  ZPRTTED, TS, NPT

WBITHEOT FOTINED BB oML T FoTWIRVNY

WYBORY, T3 ForoHE Do WTET BEEnvwsy agse
RBRBIFT, IS0 Q0T2.

(D)
(2)
3
(4)

wojram% [agvbleng
WOIRCRN BRI
2odReF3

20030 €T TROIT* 3R
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136.

137.

138.

139.

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body

(2) smooth muscles attached to the iris

(3) ligaments attached to the iris

(4) smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin
(2) Estrogen and Parathyroid hormone
(3) Progesterone and Aldosterone

(4) Parathyroid hormone and Prolactin

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

production of
releasing hormones
and regulation of
temperature,
hunger and thirst.

(2) Hypothalamus

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(3) Limbic system

band of fibers
connecting left and
right cerebral
hemispheres.

(4) Corpus callosum

Which of the following is an amino acid derived
hormone ?

(1) Epinephrine
(2) Estradiol

(3) Ecdysone

(4) Estriol

136. SnRITI  FHIY, THOTIFT  DARTY) IF  WnwY,

o3RR)TOOT BBV

(1) 29ecd Fewms oeRoRtIR ONdLR$on

(2) 0T ©0esERORTIT WY WINPT

(3) 0OFN ©ouBROABTIRN AMFR0LNPOT

(4)  2decd Bewms ©oLBRORTOT BT ATONLOT

137. 38 3INT TVEFIONTY, IRJI  BRCIRETRTAT

DOTLR T, BEIRRORTO ?

(1) SERRTHT" =B TP, eeRBe’

(2) SRR WY T TIFTIOWE ToWReF D
(3)  Fperdreeod® BBy SERAETIT

(4)  TROFGTIWE ToRReF RO BB TR TV

138. &5 ZINTPYNYY, oIn=m TWIND wFs TSR BRY

gornd wednt Foaen tdedainne ?

(1) Do e
CROTIEESD

TR 80300339 203083
%dosa'é; T0o20QTOZ
BEFFE §,03080e0808T.

;. TRREFIONG WEINTE =039
SURZ OO, TR WoBY
23003508,

P03 ER,TI0T BRBOLIT
QOTVT BOTTO BTN,
WERCRBRPEIZTS; BOSODT
Vevblethving

DT WY WO FT,*
@zﬁrﬁ@e@ﬁ@@t 200303
NG BEE,

(2)  FRpeFoRRT

(B)  Oowor | :

4) TTFFF

139. 35 NSNS, CIPFR LB SHOT TS

TORRCETRD

1) 237

(2) smBERT
(3)  ~FFIRe®
(4) se@om@e
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140.

141.

142.

143.

144.

All of the following are part of an operon except
(1)
(2)
(3)
(4)

an operator
an enhancer
structural genes

a promoter

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) AGGUAUCGCAU
(2) ACCUAUGCGAU
(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c. Menstruation iii. Luteal Phase

a b c

(1) i ii i

(2) i iii i

3 i iii ii

iii i ii

(4)

According to Hugo de Vries, the mechanism of
evolution is

(1)
(2)
3
(4)

Multiple step mutations
Phenotypic variations
Saltation

Minor mutations

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by
(1)
(2)
(3)
(4)

Only daughters
Only grandchildren
Only sons

Both sons and daughters

140.

141.

142.

143.

144.

3 NS oo, onnd  wBoUE Fedw) woBRY
TRTTGA

(D
(2)
3
(4)

%WOT BSBTELIT®
2O AT TYI IO
:&d@@ [aWlaonoelat=s)
20T JERReEIT®

AGGTATCGCAT 2000 nomorons w0008
FoBeBTo 080 FTHIONSOIPATIZT ToMTS I T3
mRNA 09303 538 =030 3mRcINS O ?

(1) AGGUAUCGCAU

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

500 I 383 Fowo I 88, 30RB0RIR) FORA DRV :

goool oo Il
a. OFe0 i 0BEARIL0DET TIT
303 20RO
b. AFD B3 ii. FOBDTT B0
c. BT BoT iil. ©RED o
a b c

(1) iii ii i
(2) ii
3) i

4)

iii i

iii ii

iii i ii

BRRRE B FTTS FFT LeBNFTRT T30 2033
(1) 230 Boedpo Bueyr,

(2)  BITRR[OD FIFIND

(3) =

(4) =83y DR,

2.2y BP0t 302 X Tear2odoas @oed X-30wod
REODT)  BROQTITY.  TMRES B3 BWEIFBOBONT
3303308033030

(1) ey 3398 Iwg,

(2)  BeRBIR SR

(3) RomBen =»g,

(4)  Romd =83 Feag =FIr =T
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145.

146.

147.

148.

149.

150.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(D
(2)
3
4)

Among the following sets of examples for
divergent evolution, select the incorrect option :

(D
(2)
3
4)

Which of the following is not an autoimmune
disease ?

(D
(2)
(3)
(4)

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1)
(2)
(3)
(4)
Conversion of milk to curd improves
nutritional value by increasing the amount of
(1) Vitamin D

(2) Vitamin By,

(3) Vitamin A

(4) Vitamin E

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

Elephantiasis
Ringworm disease
Ascariasis

Amoebiasis

Forelimbs of man, bat and cheetah
Brain of bat, man and cheetah
Heart of bat, man and cheetah
Eye of octopus, bat and man

Psoriasis

Alzheimer’s disease
Rheumatoid arthritis
Vitiligo

Homology
Convergent evolution
Analogy

Adaptive radiation

its

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance
e.  Polygenic inheritance
(1)
(2)
(3)
(4)

b, cand e
b,d and e
a,bandc
a,cande

145.

146.

147.

148.

149.

150.

85 FINT  CInEm  TOWSADY, Jeemorady AN
B2083208T FAITED TBRod DoTE TYNY wd Aweodnt
FoTERERMOST

1) 2OBoedonT®

(2) TOORITIL T0WES

(3)  ©AOERIT

(4)  ©Q0e0dRRAT

33 BINTYNGQTE YVTOTTE MOOFNTD Fasedroes DTIT
ROWOFBURNPNDY,;  oRNYY,  Foobew  Befeddm)
E:SOS%&’W@ :

(1) R, R =023 803NY @oormednsh

(2) RO, BRF, T2 8TID LT

(3) RO, BFR, =) ¥TENY BHEoD

(4) RRET, R 308 BDRT FeaY,

81 IINTPYNGY, oINPT IBReR QIODE TR
TOLOF TRIPAL,

(1) Rredodnax®

(2) & @FF BOWS

(3) TR WEPOWT WFFIe

(4)  Hudree

TOTIT  FIeTBAY  BomedS  Bwed  TBEICHYS
ABZOR0 BTE NTIBTT

(1) TeeSpeoN

(2) BISdroes VB

(3) w@z3wen

(4)  ewEr SeroseRs”

TOR0T FeRT TOSSFSCIRME WRSR  TFFeosT
SR 2T BRZOT TR

(1) e D

(2) w0 By,

(3) QeI A

4) QT E

8 FWINDE s mendd 038 mooRnsh
@&do@eoﬁaé’oﬁaa’% BRIDIY, BEVQRIZSS ?

ROTIREF TIOR3

AD TTRSReTd

WTIBOS0YROTTENTD

LTI T2 ST

TS 2R0[0de0I

b, c 3 e

b, d @2y e

a,b a3 c

a, ¢ 23y e

RP RS TP
N

(2)
3
4)
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151.

152.

153.

154.

155.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(D
(2)
3
4)

Commensalism
Parasitism
Mutualism

Amensalism

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Botanical gardens

(3)
(4)

Sacred groves
Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
D i i iii iv
(2) il iv i ii
3) i 1ii iv ii
4) i ii iv iii

In a growing population of a country,
(1)

pre-reproductive individuals are more than
the reproductive individuals.

(2)

reproductive and pre-reproductive
individuals are equal in number.

(3) reproductive individuals are less than the
post-reproductive individuals.

(4)

pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(D
(2)
3
4)

Flowers
Roots
Latex

Leaves

151.

152.

153.

154.

155.

33 BINTYNIY, BRI 2,000 TS QOLTYZD &),
FTEIEOD NPTTY, BoLWTRET  BOIROTODNY, ),
WHROZT

(1) =% Bems

(2) HooWLOWT VeI

(8) =OITBeeeR

(4) =98 8022 BB BB ST

FINTYINYY ‘o5, S 22e BoTFR 1 30T, WY, 20w
e

(1) SI2Be Tpod VRN

(2) FANS TS

(3) s BneRned

(4)  Wend wW08NR

500 I 358 3ov0 I 38, 30RB0RYR) FORA BROD :
ool

UV-B 283

goeol
a. o0uReBIT i

b. A0 oW i @ds%mée%dsa

QEF

c. Woowd BB jii. TFo0B DR

d. =37 3ORBT v, I, AA03REN
a b c d

(1 i i iii iv

(2) il iv i ii

@) i iii iv ii

4) i ii iv iii

2,083 TeTT wDP0aT, WIFHETROID

(1) Som OeRpBeE  FIMONOZ LR BEE
N0 Te3ToTT.

(2) ocEp@e == FpeROTP B FINTL AR
eEsovels-lenrcnio)

(3)  pen e FENONOT OeTPBIE FINTO
BRI 20ITYT.

(4) Oefputes®  W[INONOZ HOTPWIE  FEND
BRI ATVTT.

Tk NET R NS, MR 7 7 BRTT BF, BB
YUTC3ReNZITYT

(1) BeInd

(2) Wedonsd

8) nBT
(4) 28R
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156.

157.

158.

159.

Hormones secreted by the placenta to maintain

pregnancy are
(D
(2)
3)
4)

hCG, hPL, progestogens, prolactin
hCG, hPL, progestogens, estrogens
hCG, hPL, estrogens, relaxin, oxytocin

hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT
(1)

blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.
is an IUD.

increases the concentration of estrogen and

(2)
(3)
prevents ovulation in females.
(4) is a post-coital contraceptive.
The amnion of mammalian embryo is derived
from
(1)
(2)
(3)
(4)

ectoderm and mesoderm
mesoderm and trophoblast
endoderm and mesoderm

ectoderm and endoderm

The difference between spermiogenesis and

spermiation is

(D

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(2)

In spermiogenesis spermatozoa from sertoli

cells are released into the cavity of

seminiferous tubules, while in spermiation
spermatozoa are formed.

3

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

(4)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

156.

157.

158.

159.

TRHoEROOT NPFSST AVFIH RRBL ZAFOTRNIT
TOBREFIONGD 03RR)H0BT

(D
(2)
3
(4)

hCG, hPL, #pedns, dpeondn

hCG, hPL, $pies’, ssigeis

hCG, hPL, 23nss, 0ess, LRI
hCG, Sp AR, S5,

RREACTLT TR

RPrRdRess ‘TSed o3

(1) RPrEnesndtos SRBRwds MmWndm) IR,

BN B FBIRRW T, T80T
QT 2o IUD.

SRy BRI, BYRHIS B BRI,
0RO IHMEVT.

9 GoNs §050H 03T R NP DGR,

(2)
3

4)

AP PR enYTHT
OM0TONTS

e0In CAPRTOT
(1)
@)
3)
4)

BRTTROF 3022 BOGTRE
DO TRF DR LRTPLRT’,
LITROF 3B BOGTROF
TRTTRF BB WwHTROF

R0FCdReERNTRR OB
RTRReS0TT

;15335—‘033@553@ nR ¥R

(1) RBOFo3RefRTRY, IRRFWE N LUBIOINTT;

T35 030e3ZTEG, DOIE £ LVBFOIRNIZ.

(2)  Bs0rodRefRTTE, 2O3FEINS
Redper GBREBNPOT BUFTT LWRENY ToBT
WRNBCINTT;  FR0FO0ESTTRY, DOIRE LN

PUBSCIRTOESS.

(3)  BFO3REERATTY, DOIRFEVNLD  GVBIOINTT;

Fo0F 03B TE, ISR LT NED GVBZOIRMIZI.

(4)  ROFO3REERTTTY, DOIRFEONRD  GUBZOINTT;
F0FoeBRY,  DodRFERNEDd Roedgies”

3R, WROR Y WRREIRTIZS.
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160. Which

161.

162.

of the following options correctly

represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased
respiratory surface

(2) Increased respiratory  surface;
Inflammation of bronchioles

(3) Increased number of bronchioles; Increased
respiratory surface

(4) Decreased respiratory surface;
Inflammation of bronchioles

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column 11

a. Tricuspid valve i. Between left atrium

and left ventricle

Between right
ventricle and
pulmonary artery
Between right

atrium and right
ventricle

Match the items given in Column I with those in
Column II and select the correct option given

b.  Bicuspid valve ii.
c. Semilunar valve iii.
a b c

(1) it i ii
(2 i ii iii
3 i iii ii
(4) i i iii
below :
Column I
a. Tidal volume
b. Inspiratory Reserve
volume
c.  Expiratory Reserve
volume
d. Residual volume
a b c
(1) i ii i
(2) i iv ii
(3) iii i iv
(4) iv iii ii

Column I1
i. 2500 — 3000 mL
ii. 1100 — 1200 mL

iii. 500 — 550 mL

iv. 1000 — 1100 mL

iv

iii

ii

160. "egsd 308y D0aeERRE BowohEoE 8 NG cdnE
QUM FOCIRN TFERTE HSR) FTBRRZES

161.

162.

(1) wmosecdpeeony  Apos; oumdeEn  @oed
BRT0oIRRORNT
(2) DBE To3BRCST Boeed ; 23,08C3RCONT BReoBd
W s ey T2
(3)  wooscdneony  TupRosl; THRERETE  Woed
Temrong
(4) 3RROXRT FFERIE Bed ;5 W osecdpeony

BP0

500 I 3583 Fowo I 3, FOB0RIR), FOWRA BROD :

Fool gooll

a. $30 Foou i QBERETH = 28
B30 T

b. QB g0 i, 2OEBP 0B BYTO
3835003 IBOT

c. ©TFIOT, Bt iii. WOBZEDF F0ZY WO
B30 T@H

a b c

(1) iii i ii

2) i ii iii

3) i iii ii

(4) ii i iii

50 I 58 3ov0 11 3Y, 30B0NIR) FORA BROD :

ool
a. @gcéef m%w
b. ‘&69%3)6%3@ ORI

ii.

goooll
2500 — 3000 mL
1100 — 1200 mL

ORIT

c. DFRTeL30 OFTE iii. 500 — 550 mL
GnlJvkovey

d. Sa@y0He” meRm*  jv. 1000 -1100 mL

a b c d

(1) il ii i iv

(2) i iv ii iii

(3) iii i iv ii

4) iv i ii i
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163. Match the items given in Column I with those in

Column II and select the correct option given

below :

Column I

(Function,)

a.  Ultrafiltration

b. Concentration
of urine

c.  Transport of

Column II

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

d
iii
ii
iii

iii

Match the items given in Column I with those in

Column II and select the correct option given

urine
d. Storage of urine

a b c
1) iv v ii
2) v iv i
(3) iv i ii
4) v iv i

164.

below :

Column I

a.  Glycosuria

b. Gout

c. Renal calculi

d. Glomerular

nephritis

a b
(1) it ii
(2) i iii
3 i ii
4) iv i

1.

ii.

iii.

iv.

(¢}

iv

iii

ii

Column I
Accumulation of uric
acid in joints
Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
i

iv
iv

iii

163. oI 2023 o 11 3Q, FORONTR) FOURN TRoDA :

(D
(2)
3
(4)

164.

(D
(2)
3
4)

o001

( @a:‘or)

S0} BRERONF
eI T T3

[T, T

RS, Fe3TH

iv

iv

ool

R} BRERRO0I

e

O TR

iv

iv

MEITOeRT®

SEsielteod

a
iii

ii

iv

ii

iii

ii

i

iii.

iv.

ii

ii

i

ii.

iii.

iv.

iv

iii

ii

oo Il
(RS @ gor)
BISeR 9T

03203ee3T*

[T
B OeRBONTT FITEIST M
TR TP
£30,00°

d

iii

ii

iii

iii

500 I 3583 Fovo I 88, 30RB0RIR) FOWRA BROD :

goooll

FoTINTE), 0BR0T BN
3ea)TR

RRZR0BE Wt BT mgjd
ORTH03T Tod

MROTOYT GVO0RE
DRZTE, "déddoja €303
QTORF

d

iv
iv

iii
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165.

166.

167.

168.

Which of the following is an occupational
respiratory disorder ?

(1) Anthracis

(2) Botulism

(3) Silicosis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(D

binds to troponin to remove the masking of
active sites on actin for myosin.

(2)

detaches the myosin head from the actin
filament.

(3) activates the myosin ATPase by binding to

it.
4)

prevents the formation of bonds between
the myosin cross bridges and the actin

filament.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I1

a.  Fibrinogen i Osmotic balance

b.  Globulin ii.  Blood clotting

c. Albumin iii.  Defence mechanism
a b c

(1) i ii i

(2) i iii ii

@) i ii iii

(4) ii iii i

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Chiefcells

(2) Goblet cells

(3)
(4)

Mucous cells

Parietal cells

165.

166.

167.

168.

RNIE, CIRFT 2,08 FFT0e0T TIFERETT SRFS ?
(1) esozR3

(2) e OIIF
3)  »rH3eerz®
(4) QoI

eormRObONY Fomt3sE 7,900 LR VEORT

(1) @pRps  ®eSR WoRIVRFTT ©000083

WCIRAT  FoedTVT S 300%TF NNY

R00RER) ERROTBRTO.

(2) Soodpeas® 3@30:53&% St 2080003
LIeBE RROR)T0.

(8) Hoodrean®  ATPodhex ¥r3i wodRoxad
B02T0TT W) WITOTNRZ.

(4) Soieerd  wBZE[AY DI $IT  Zodod

SR BT WOTRI) SENERITO.

500 I 383 Fovo I 88, 30RB0RIS) FORA DRV :

ool oo ll

a. FUIdecEs i s T8R0T
b. MRLOTE ii. 0% IRnend
C. BRI iii. XoTgE 8,03
a b c
(1) i il i
2 i il i1
3 i il 11l
“4) i iii i

Tg8e0 Fo00E), 83 FINT CIRW MRRF 3TN SeIRT
008038, AT BRTOZS

(D
(2)
3
4)

e BREBND
reeeder nesnsh
BoBReT RSN

ToezTer Bpe3nsh
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169.

170.

171.

172,

173.

174.

Which of these statements is incorrect ?
(1)

Enzymes of TCA cycle are present in
mitochondrial matrix.

(2)

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

3)
4)

Glycolysis occurs in cytosol.

Oxidative phosphorylation takes place in
outer mitochondrial membrane.

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(1)
(2)
3
4)

Polysome
Plastidome
Polyhedral bodies

Nucleosome

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Pleurodont, Monophyodont, Homodont
(3) Thecodont, Diphyodont, Heterodont
(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Lampbrush — Diplotene bivalents
chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Allosomes — Sex chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Nissl bodies are mainly composed of
(1)
(2)
(3)
(4)

Proteins and lipids
Nucleic acids and SER
DNA and RNA

Free ribosomes and RER

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1)
(2)
3
(4)

Protein folding

Cleavage of signal peptide
Protein glycosylation
Phospholipid synthesis

169.

170.

171.

172,

173.

174.

QRNTE, 030 Bewd Foawe ?

(1) TCA W3 BERNED Bpireso0l,08nT
B335 TIQTOZS.

(2) 7§ O QegRrRoEsh Sdaded NAD

BpPEodeotnt FEpED® WY TBDFTN LwoRd.
R FGT ERe3ERTY FB0d03s.

wigderdes  DRROEETn ) HReEI0R03Ra
iolersleleveluRiafevebrcink

3
(4)

TOD FLIRARROND 030, Beonmodpendeodnt
2o mRNA o¥p8 320 wad BERY OB @)
QT0ITmoN  BOSRTY  WRBZR.  @oI3m  ERINAART
JudneRemoond godnt TI

1) O3eeRT

(2)  oedReRT

(3) WIS BeBNS

(4) SBR3BredneET

B NS IR Jyndd @RI Do3tuseha:
2RORZE ?

1)
)
3)
@)

SeBRETIOL, %@oﬁmemou, BRCTINCTT03

TR, TREEI0L, BRBREPOSLETII0L, BREFREEI0
SeBRTIOL3, c%égoﬁfaemoés, DEITRCTTOLS

TR, BReTE0L, FRO3RETEOL, TesTRETEOES

TR ERODBCIR), SOIRRE

(1)
(2)
6))
(4)

TR Te@neh RoDmN BoTERIRNTTIT

(D
(2)
3
(4)

R,OT T HWAFBORNED - QRReese” YaSewors
AP RoERF0LT w030 - L-55003 Wear 3o
LORTOTERIEITI WEIFB0BONH — AONIEIFSOBNED
TS TEAFZOBONGD — GVLI T 0T

TP eesT® By AN

BR3o3re sRed 308y SER
DNA 302 RNA

3208, Juiednemonsd =08 RER

3 NI PUSNFEY IR 20 @030 TWOTE,
(RER) #datogoe ?

(D
(2)
3
(4)

TP s NS Dowoedd
Roded B B VoIS
Bpewenny 1§ Foadess
TRROVERY VBT
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175.

176.

177.

178.

179.

180.

Which one
homeotherm ?

(D
(2)
3
4)

of these animals is not a

Macropus
Camelus
Chelone

Psittacula

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1

Presence of a boat shaped sternum on the
9" abdominal segment

(2
3
4)

Forewings with darker tegmina
Presence of caudal styles

Presence of anal cerci

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia
(2) Aves

(3)
(4)

Reptilia
Osteichthyes

Ciliates differ from all other protozoans in
(1)
(2)
(3)

using flagella for locomotion
using pseudopodia for capturing prey

having a contractile vacuole for removing
excess water

4)

having two types of nuclei

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
(3
(4)

Dinoflagellates
Cyanobacteria
Diatoms

Euglenoids

Which of the following animals does not undergo
metamorphosis ?

(D
(2)
(3
(4)

Earthworm
Moth
Tunicate
Starfish

175.

176.

177.

178.

179.

180.

B3 FINT TN 2,003 WATT & rae)?

(1)
(2)
3)
(4)
Mowd BTPODRY, Beay, WITWoT TS B 9N
B MIEFVFENTR) LVTC3RENTOTIT ?

(1) Teeed =503 TRRY 2.0WBICI YVTT DOBTE,
SUTRGCWOT

Sowend G5 s ST U m

RS B O QUTRSO00T

MOTBEMY GuBRSCWOT

SR ER TR
O
3etoes®

2ERBOCRD
e

(2)
3)
(4)
WTOR TRIPEY, DT WY NRBF  TOBOFHRT,
TROQTI BT Moo WIDE T E3ART TOTIER

(D
(2)

VLI O0TAINGD

Tisd

(3) RoBTRD

(4) @R N

RO0IEIT CI0T TEITIFO VTS &R BOWEANIN0T T

(1)
(2)

BOIN FTONBRY, GVTOIRENTIZES

20,301, FTRRODLI AFFTOTBI), WIRIZS
(3) TeRE VeI BRTDTLD FoBT BITT TRV
(4)  »TR> BB 363 FeoB TR Tpotss

33 BINT O3 NI, FOTT B0, LVTITETD DO
BROROTT ?

(1) deegsides
(2)  Rodndeermsoodd
(3) oy,

(4)

ORONTONF®
s 3N I TR ARRDOBIFRA LPMPOE, ?

QTTOK
2363
e

(D)
(2)
3
4)

é&r%@émi
JgZ0e
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Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.

S00DT AR TR RN N0
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BoedpoEdd Fe9nT  wylfrodn BRI BSII),
BreoReie.

cdneie WP HFodn Boedpwdssd Wil awd 3§L
RINR0T DTS,

WPHFODd ©nT WZS TEFONY  HoedpsTEon
QeT3T TOegD BREBOWOT TBRTIREMITOEY, TITE
RICY, 2T WO o SeEde  @geF
TRTBREMT0EY, ITWRE Wod T SRBE WL HFOIND
VT B F ACRY) LT BONLITRMIZT. Tone W3S

B RFO0 FoeS BT %me%mm@c:b

DETIT [BRFRFTET 0T IR AR
ANT.

el IR folol<leve{ SIS iRt es SURIIING R G It Jovs)
QODNIR), BBBe  TOFWeBd. DO 0TI
PRI HFNY 30eS DO BB V00T FBoT B0
$riedoardR)cd.

cIRte TTTR B WA WOTFST [Ty QT
BYIoH  cIn)Te mﬁdaﬁ.}* o3n)Ie mds@ﬁr%
BOOIVTOS),

PRI HFOI0 FO0IRT &ég WOT S Bew® e_-agbq &é’g
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TowTE WRTTE) wiodededd.
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